Subject:
Document under 5-day rule: Error in TC 42.3.1.2.2, 42.3.1.2.3, 52.3.1.2.2 and 52.3.1.2.3, Specification not clear

Abstract: There is a problem with the current spec requirements of these tests: 42.3.1.2.2, 42.3.1.2.3, 52.3.1.2.2 and 52.3.1.2.3. Current implementations of the tests can unfairly fail compliant MS. The mobile can do a reselection upon C32 criterion before the step where it should do it because the delta between the power level of the cells is too small. If the mobile do this reselection the test is failed.

Detailed description:

Detailed description is given for 42.3.1.2.2 but the same problem happens for 42.3.1.2.3 (unack mode) and for 52.3.1.2.2&3 (edge)

This tests uses 2 cells

- cellA, -50dBm

- cellB, -60dBm with GPRS_RESELECT_OFFSET = 10 dB when seen from CellA
With this offset C32(A)=C32(B). This causes a problem because there is no margin. We have seen in a case where the mobile does a reselection on Cell B upon C32 criterion at the beginning of the test, just because the mobile was only seeing a difference of 9dBm between the 2 power levels of the cells (so C32(B)>C32(A)).
It seems this test case has been defined without taking SS and mobile power level tolerances into consideration. One of the solutions could be to change GPRS_RESELECT_OFFSET  of Cell B to default (0 dB).

A CR GERAN will be raised on next GERAN meeting to correct the specification
 

Solutions:
A simple solution is to set the GPRS_RESELECT_OFFSET of Cell B to default (0 dB). Hence the reselection of cell A to B will only occur due to cell A failure, which is the purpose of the test.
 

Proposal

Because of the above mentioned problem, the test script unfairly fails the conformant Mobiles.

Motorola proposes to downgrade 42.3.1.2.2, 42.3.1.2.3, 52.3.1.2.2 and 52.3.1.2.3 test cases for all frequency bands. A GERAN-CR will be raised to correct the current requirements.
